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Eight Boxes each contain identical numbers of white and black balls
only.

Each box contain 3 white and 4 black balls.
One ball is selected from each box find the followings:

(a) The probability of getting all the 8 balls selected are white ?
(b) The probability of getting 4 white balls from the 8 balls selected ?

(c) The probability of getting more white balls than black balls from the 8 balls
selected ?
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Nine Boxeseach contain identical numbers of red and green ballsonly.
Each box contain 5red and 3 green balls.

One ball is selected from each box find the followings:

(a) The probability of getting all the 9 ballsselected are green ?
(b) The probability of getting 4 green ball from the 9 balls selected ?

(c) The probability of getting more green balls than red balls from the 9 balls

selected ?
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